SHRIMP data acquisition logsheet

Primary beam @ or O

SHRIMP A or' B

Mineral = RUT+W+Ta+Nb+Sn

Date Sample/Mount(s) | Sample owner SH operator Night-runner(s)
08-03 Niu-13 N _—
1/ (6 Mc Men / ;
7/ "/ NiB-36 ¢ ATo
Deadtime...?.’.g ..... ns Kohler aperture....., / 00 ...... Retard... /44 ..... volts Resoln...(é.ﬁéﬁQ..
Primary on steel: O i, Bits/nA O Bits/nA
Primary O, on:epoxy ............... nA standard .................. nA PostESABMonstd .....................
Raster: Time (mins) 2'0 ...... Aperture .../ / 28 No. of scans ......... é .........
Rutile 192 197 200 202 204 Bkg 206 207 208
Ti303 TaO wO Nb20 Pb bkg Pb Pb Pb
Count time (secs) 2 2 2 2 10 10 10267 | 3045 10
Delay time (secs) 8 2L 4 le 4 2 4 2 2
Pk centring time (secs) 3 — 3 — - - 6 - -
7] ]
Rutile (cont.) 216 240 248 254 256" 270
W02 Sn2 ThO Uo S0, uo2
Count time (secs) 4 4 5 5 LA 3
Delay time (secs) 4 4 4 2 2 3
Pk centring time (secs) 4 - - 3 L/ 3
(
Offsets e
206-WO |WO-Sn2 [UDn20
Rutile 192-200  [200-204 {204-Bk  [204-206 [206-207 206-208  |206-216 [216-240 55,5’3256
Expected offset ~8.060 4.040 0.040 ~2.001/9  |1.001/5 [2.001/9 10.000 23.850 d:?ﬁf
Setup offsets g 4079 4,035’ JOUS |2.022 /,005 2.008 ???‘2 24 .03/ ﬁ/i
=2
q2-(47 =5 073(591,\1 Naar? z{l MM’)
Notes:
No peak centring on 248.....check peak position on NBS611 or zircon e Ql'u\i' '
WH has enough W to peak-centre, but no Sn
Use Universal Line Fit
Rutile Standard: WH (Windmill Hill) quartzite wob 0’3
207Pb/206Pb age = 2642 Ma K 206 Pb /z U g = 2845 -4 EM8\ M
206Pb/238U age = 2625 Ma T4 /
-¢ ,{5 ;( = < V4 /
U-content = 164 ppm U ' v o= fi

Noté to Neal: Check Ta0 @ 197 and Nb20/@ 202
éSetuf) mount=N14-13—7 ~

—

7
7
B



Date 7/“//é ........ as e o Mount Og’ajv"/"'{'j’ﬁ Page no. /
(efiz. (P (D G () (3D G

Filename | Time |UO2/UO | 192 [206 | 4/6 200 (2067270 [Age/Ma [SMB

270/254 | Keps | cps |x10° | Keps cps L2/ 2077206 | %

©B-03 |WH_|—| 1280 £.s2 4.4 |g3e0|.0/| @. S 160 | 6,58 | 2844 |2€./

WH. (-2 |12/4| 058 | 5./ lwxl.e/l 1k géc | ©-s8 | 2633 124-3

105 1-1 y3:38] ©.58 | 4.8 |46 38./l0.27| 6o | 0./0 | 797 l23.2

WH. 2| [in:02| €.€o | 4.5 |Reo] -0/ 2. 4| 950] o.do |2235 20.q
,'—>N/5'36 L. B-(114:56] 072 | 1-2 3300 (.38| 3.0 | 8400 |0.€0 |2€4u
T 72— |ISiso| ©.66 | -8 3900\ 1-20| 3.3 | (2K ©.79 2824
5 T. 6= |18:46) 0-6( | 4.7 |g200( 64| 7.0 | 29K |0.70 2234
C¥ | T 5oy [biui] 026 | 2.2 g 095 §.4 | 36K | ©.75 |2€42
€3-03 |WH. 3-) [12:44| ©.ée | s G livkl o | 1K 7400 0.59 126323
WH. L—] 1@:0; c.E£2 g.g leKleo3| 4 K| 2jpc | ©.é2 2642
WH. S-1118:3i| 060 | 5.5 |tex| — |tuk|isoo| c.éo Z263¢
> Nib-36] T, B |i8:s4 o.60 | 34 {7@0 LIS| -0 |26K | ©.66 2_792
T L] [iG:g| ©.65 |S-6 |12K| 14/ K |4b6K | ©.92 283k
T 61 | t3:47| ©¢5 | 4.7 17k|o.i1] 1€ k| 2000 063 |2632/
C3-C3\WH. 7 20yt | ¢4 | s 5 13K|o.ou| 12k | 1800 | 0.42 | 242~
c 6-( 120035 063 | £-B |\aklo.uliar | 1g02| ©-68 | 2.2
N636| . 2—(|2/:00] 06 | 4.3 10K | 0-73| G300 26« ©.73 | 2834
I 1=l 12/:2¢4] 6-66 | 5.5 | hou|).Fu|G600| 27 K ©.26 2337
0&-63 | INI. u"} 2752 0.65 | s.4 |s9e0]3.02 SGoo|SB K | £-€5 |24 27
n_jo-tle2ys| £ 63 | 4.3 |zxelazs|zrc0|/so0 | & és | 28 /8
n_N-l122!34 ©-63 | 5.2 |j4Kleog|lisk | 2100 | 6.6 | 2642
M -36| 7 2-2 2304 0.62 | 5.9 |//k /-;'z q7e0| 43 K | © .70 | 2852
T 6-223:27| 0.47 | 5.5 |/3x|t-60| UK | Lék | 0.77 2837
J. 5-2122:S(| &.20 | 3.2 |gwo|/-07| 7700 3t K | ©.82 | 223/,
CE-BIWH 2-1ec7| .63 | 5.7 liskless|isk | i1g00 | e.63 |243€
v 13-) &0l ©.SG | €5 |kl os|ur |13ec]| 0.6/ | 2429
v 14/ |oro3| o.é2 | €0 iskl.e7|isk | jge0 | 0 do | 2432
NIbD6| . -2lor:zg| 065 | 5.6 [izu|i39| ik |egr | 0.7 7922
T. 2-2101:SS| 0.8 | 4.5 | I1K|0.65| 10K | &rk ©.77 1280%
&3- 3| WH. IS5 |c2t20| £.£3 | 5.7 |/GK|.ou 18K |I1Soc| ¢ s |0kz7
v 162 0y €S | 5S4 |1k | ou|tbu | 200]| €68 |2k
" 172-1]62:07 6.2 | s.s IGK|.cs | 18K | /66c | ¢. 4L | 2424
Mi6-36| T . /-2 |03:32] 0.66 | 58 |uxlrsz gboo| 42k | ©.726 2857
. 2-3103:59 ©£2 |53 |WK |76 9400 g K | ©-7( | 2857
C3-03\WH - /8-( |os:20| 6.2 | 5. |lukl|o., 3|12k | 160 &.6¢ | 24324
n lg-tlogy)| C-€3 | S.o |8k|.03 |17 | 1700 | c-£¢ Zé2g
v 20-110Siy1| ©.€3 | S5 |Is|€eBlisik | 1900 | 6 és |2é27
Mib36| T- £-3|os36| 0672 |56 [/3x|t-3(| 1k |uzk | o-76 2239

X T putid Aotorn /-!_7.&&{5

_l_q_z_—_té 7—=S.o’7;3>



Ceit.

Date 9"3//// /6ruﬂ Mount ........ s Page no. 2’
Cafia) (D () C/7) () (2> 7/
Filename | Time |U 192|206 [4/6_ | UO2 | 200 |206/270 | Age/Ma |SMB
270/254 | Keps | eps |x10° | Keps | cps 207/206 | %
ME36| 5 £ -3 05:36| ©.67 |s.6 |/3K|1-31| WK |4k | 026 2832
T. S-310b:00| ©.62 |.4¢ 7o 1/.351S7S | 233K 079 12432
0%-03 |WH-21~1 |0é.28| ©. b6/ | S.1 [13|.06| 13k 1700 | 0.6/ |243 &
N 22-1166:52| &.67 | 5GF |JEK|-0S|ISK | 1400 ] .22 | 2428
v_23-Nous| €63 | £ |1k 07| IZK | 1600 | 0-66 |28 14
Mb-36| T . 22 02wyl ©70 |sé& |13k 1-(7| 1K | ¢SK | o6-80 |zgs/
J. /-2103:08| 665 | £.0 |12K|(67| 0K | 42K | 6.76 |29<2
T, B-L|OF:32| @67 | L .4 |8000|0.33| Zavo| 3K | 6-67 |2867 |Be.c
OO\ WH. 24-) |8%isg | .3 | 5.¢ |tbxle | isu | 18co | o£6 zéng
=1 FrA S #zlED =
Offsets: 192204 = .......... 204-Bkg=.......... 204-206=.......... 206-207=.......... 206-208=............



Date ...ccvvviviiiiiiiiiiiiiieeen Mount ......ocoveviiiiiiiiiiiiiiann. Page no
Filename | Time | UO2/UO | 192 |206 | 4/6 | UO2 | 200 |206/270 |Age/Ma |SMB
270/254 | Keps | eps |x10° | Keps cps 207206 | %
Offsets: 192-204=.......... 204-Bkg=.......... 204-206 = .......... 206-207 = .......... 206-208=............




